[image: image1.jpg]


IO-Power Technology Co., Ltd    1F,No.212, Ln. 271, Wuling Rd., North Dist., Hsinchu City 30053, Taiwan
[image: image2.jpg]H-Plane

Port-1 Port-2

-Plane GainPatem () ——S100MH  44Piane GanPatem () —si0 e




http://www.io-power.com.cn e-mail: io-power@io-power.com.tw Tel: 03-5429395 Cell: 0933168849 Fax: 03-5357297

IOP-PANFO-5D2001010
5GHz 20dBi Dual Polarization Panel Antenna
	[image: image3.emf]Electrical Specification

	Frequency range
	5150 – 6100MHz

	Gain
	20 dBi

	VSWR
	2 : 1 Max.

	Polarization
	Dual Linear, +- 45°

	HPBW / Horizontal
	10°

	HPBW / Vertical
	10°

	Standard compliance
	N / A

	Front to back ratio
	-30dB (Max)

	Isolation
	24dB (Min)

	Power handing
	20W (cw)

	Impedance
	50 Ohms

	Connector
	N Jack × 2

	Environmental & Mechanical Characteristics

	Survival wind speed
	216Km/hr

	Temperature
	-40℃ to +80℃

	Humidity
	95% @ 55℃

	Lightning protection
	DC ground

	Radome color
	Gray

	Radome material
	PC, UV resistant

	Weight
	[image: image4.jpg]Port-1

-Plane Gain Patem (65)




1100g

	Dimensions
	320 × 320 × 20 mm

	Waterproof
	IP-X5

	Mounting kit
	Pole mount & Wall mount


*exclusive of mounting kit
[image: image5.jpg]440,

A3





[image: image6.jpg]Pole Mount

Hor. & Ver. Polarization

Slant+45 Degree Polarization





[image: image7.jpg]Wall Mount

Hor. & Ver. Polarization

gree Polarization

Slant+45 De





[image: image8.jpg]M-Type breaket (L)
Space Keeper
Spaing washer
M6-1.0 Nut

Steel tube 93.2 mm
XHM8-1.25*120

. M8 spring washer
. M8 washer

M8 Nut

1Pcs
2Pcs
6Pcs
6Pcs
1Pcs
1Pcs
3Pcs
4Pcs
1Pcs

10. Rotating bracket
11. XHM8-1.25*20

12. Mounting main fram
13.U-Type Screw

14. M6 washer

15. Wall Tiger

16. TH 5/32-16*1"

1Pcs
2Pcs
1Pcs
2Pcs
6Pcs
4Pcs
4Pcs





















































Form No.：IOP-OANC-001-001                      Rev.：A.1                                   保存期限：6年

